

MEETING DATE: February 28, 2022

AGENDA ITEM: Consider Approval of Purchase of Performing Arts Equipment/Furniture for McAnally Middle School and Aledo Middle School

PRESENTER: Earl Husfeld, Chief Financial Officer and Tyler Boswell, Director of Construction and Facilities

BACKGROUND INFORMATION:

- Per Board Policy CH (Local), any single, budgeted purchase of goods or services that costs \$50,000 or more, regardless of whether the goods or services are competitively purchased, shall require Board approval before a transaction may take place.
- As you are aware, construction of Middle School No. 2 (McAnally Middle School) (MMS) and renovations/additions to Aledo Middle School (AMS) were included within the District's 2019 Bond Program.
- Included within these bond project costs were funds allocated for the purchase of performing arts equipment/furniture for the new performing arts areas of these campuses.
- As we discussed during the January 18, 2022 board meeting, input has been received from staff in the performing arts programs regarding the items needed for their programs. These items include instruments, instrument storage, risers, chairs, chair racks, music stands, and music stand racks.
- Since the January board meeting, district staff have refined the types and quantities of equipment/furniture items needed and finalized the attached quotes.
- To ensure the best pricing and value, the District utilized the TASB BuyBoard purchasing cooperative to obtain these quotes.

FISCAL INFORAMTION:

The \$343,420.59 cost of these equipment/furniture purchases will be paid from 2019 Bond Program funds allocated for McAnally Middle School and Aledo Middle School.

ATTACHMENTS:

Quotes from Wenger Corporation and N-Tune Music & Sound

ADMINISTRATIVE RECOMMENDATION:

The Administration recommends the Board of Trustees approve the quotes submitted by Wenger Corporation and N-Tune Music & Sound for the purchase and installation of performing arts equipment/furniture for McAnally Middle School and Aledo Middle School as presented.



QUOTE

Phone: 507-455-4100 Fax: 507-455-4258

Date: 02/14/2022 Page: 1 of 4 Cust #: 70039250

Quote Number: 3239412

Wenger FF&E, Instrument Storage (BuyBoard contract, Wenger installation)

 Quote To:
 Date:
 2/14/2022

 Fine Arts
 Expires:
 6/30/2022

McAnally MS #2 - N

Reference:

Old Weatherford Rd
Aledo TX 76008

Terms: Net 30 Days

United States Created By: Mary Steidler

Phone: Salesperson: Mary Steidler
Fax: Phone: +1 (507) 774-8395

E-Mail: mary.steidler@wengercorp.com

Quote Comments:

Customer to confirm which cabinets are to be "AcoustiCabinets" with the acoustic backing; and "UltraStor" Cabinets without acoustic backing. Changes to this quote will affect the price.

Customer to confirm Oyster laminate for all cabinetry. Changes to this quote will NOT affect the price, but Wenger will require laminate selection at the time of order.

***Please note extended lead time on Classic 50 Music Stands (approximately August 2022). At the time of this quote, we cannot guarantee the stands will be available in time for school to start. **

Lead times for all other items to be delivered together: Minimum 16 weeks ARO. To meet manufacturing requirements for an order of this size and scope, Wenger would prefer to receive a PO as early as possible in 2022.

USD

Line	PartNum/Description	Qty	Net Price	Ext. Price		
Band Room- 463						
36.00	255A002.106 AcoustiCabinet #02,Oyster,Composite Wood,Compartme	6 EA ent Waterfall Do	\$2,174.40 or,Hinged Left	\$13,046.40		
37.00	255A004.103 AcoustiCabinet #04,Oyster,Composite Wood,Compartme	6 EA ent Waterfall Do	\$1,980.00 or,Hinged Left	\$11,880.00		
38.00	255A010.103 AcoustiCabinet #10,Oyster,Composite Wood,Compartme	12 EA ent Waterfall Do	\$1,496.80 or,Hinged Left	\$17,961.60		
39.00	255A915.103 AcoustiCabinet #15 RTA,Oyster,Composite Wood,Comp	1 EA artment Waterfa	\$1,976.00 all Door	\$1,976.00		

^{*} Wenger is an approved vendor for Music Equipment through BuyBoard. Items on this quotation are available on BuyBoard Bid #619-20. This contract is in effect through 8/31/2022.



Phone: 507-455-4100

Fax: 507-455-4258

70039250

CORPORATION

Quote Number: 3239412

Wenger FF&E, Instrument Storage (BuyBoard contract, Wenger installation)

QUOTE

Date: 02/14/2022 Page: 2 of 4

Cust #:

	ct, Wenger installation)		Oust #.	70039230
Choir				
19.00	0936121 Student Chair Black Frame/Black Seat 17.5"	80 EA	\$75.00	\$6,000.00
20.00	127A261 Chair Move & Store Cart	5 EA	\$411.00	\$2,055.00
21.00	039E500 Classic 50 Music Stand	20 EA	\$55.00	\$1,100.00
	Classic 50 Music Stands to be available in the August	2022 timeframe.		
22.00	039C202 Music Stand Move & Store Cart Large	1 EA	\$501.00	\$501.00
23.00	098G053 Signature 3-Step Choral Riser	5 EA	\$1,683.00	\$8,415.00
24.00	098G541 Signature Choral Riser Accessory Siderail Kit	1 EA	\$645.00	\$645.00
44.00	146M024.125 Mobile Choral Folio, 4 column, 1.5" spacing, Composit	1 EA e Wood, Oyster, N	\$1,173.00 lo door	\$1,173.00
Ensem	ble 461			
42.00	255A915.103 AcoustiCabinet #15 RTA,Oyster,Composite Wood,Con	5 EA npartment Waterfa	\$1,976.00 all Door	\$9,880.00
Ensem	ble 462			
43.00	255A915.103 AcoustiCabinet #15 RTA,Oyster,Composite Wood,Con	5 EA npartment Waterfa	\$1,976.00 all Door	\$9,880.00
Inst. St	orage- 464			
25.00	250A002.174 UltraStor #02,Oyster,Composite Wood,Compartment V	6 EA Vaterfall Door,Hing	\$1,704.80 ged Left	\$10,228.80
26.00	250202106 UltraStor #03,Oyster,Composite Wood,Compartment V	1 EA Vaterfall Grille Doo	\$1,675.28 or,Hinged Left	\$1,675.28
27.00	250A004.186 UltraStor #04,Oyster,Composite Wood,Compartment V	3 EA Vaterfall Door,Hing	\$1,567.20 ged Left	\$4,701.60
28.00	250A005.187 UltraStor #05,Oyster,Composite Wood,Compartment V	8 EA Vaterfall Door,Hing	\$1,636.80 ged Left	\$13,094.40
29.00	250202107 UltraStor #07,Oyster,Composite Wood,Compartment V	1 EA Vaterfall Grille Doo	\$1,625.27 or,Hinged Left	\$1,625.27
30.00	250A010.183 UltraStor #10,Oyster,Composite Wood,Compartment V	1 EA Vaterfall Door,Hing	\$1,185.60 ged Left	\$1,185.60
31.00	250A011.187 UltraStor #11,Oyster,Composite Wood,Compartment V	10 EA Vaterfall Door,Hin	\$1,254.40 ged Left	\$12,544.00



QUOTE

Phone: 507-455-4100

Fax: 507-455-4258

Date: 02/14/2022

Page: 3 of 4 70020250

Quote Number: 3239412

17.00

18.00

0936121

127A261

Student Chair Black Frame/Black Seat 17.5"

Chair Move & Store Cart

	er FF&E, Instrument Storage (BuyBoard ct, Wenger installation)		Cust #:	70039250		
32.00	250A912.178 UltraStor #12 RTA,Oyster,Composite Wood,Compartmen	1 EA t Waterfall Doo	\$1,567.20 r	\$1,567.20		
33.00	250201921 1 EA \$1,044.49 \$1,044. UltraStor #13,Oyster,Composite Wood,Compartment Waterfall Grille Door,Hinged Left					
34.00	250A915.181 UltraStor #15 RTA,Oyster,Composite Wood,Compartmen	7 EA t Waterfall Doo	\$1,567.20 r	\$10,970.40		
35.00	250206486 1 EA \$1,910.47 \$1,910.4 UltraStor #18,Oyster,Composite Wood,Compartment Waterfall Grille Door,Hinged Left					
McAna	lly MS					
1.00	039E500 Classic 50 Music Stand	30 EA	\$55.00	\$1,650.00		
	Classic 50 Music Stands to be available in the August 202	22 timeframe.				
2.00	039C202 Music Stand Move & Store Cart Large	2 EA	\$501.00	\$1,002.00		
3.00	280200662 StageTek Tiered Riser Staging System	1 EA	\$7,367.84	\$7,367.84		
	PLEASE SEE SKETCH ACCOMPANYING THIS QUOTE LAYOUT StageTek Tiered Staging System 2 Tiers, 8" Rise, 4' Deep (3) 8' rectangular sections Deck Surface: Black Cracked Ice Fixed Height Legs Back, Left, and Right Guardrails (for elevations above 8") Removable Chair Stops All Necessary Leg-to-Leg Connectors		M THE SEATED RIS	SER		
4.00	113K001 Staging Universal Deck & Rail Cart	1 EA	\$640.00	\$640.00		
Orches	stra					
16.00	039E500 Classic 50 Music Stand	60 EA	\$55.00	\$3,300.00		
	Classic 50 Music Stands to be available in the August 202	22 timeframe.				

60 EA

3 EA

\$75.00

\$411.00

\$4,500.00

\$1,233.00



QUOTE

Phone: 507-455-4100 Fax:

507-455-4258

Date: 02/14/2022

4 of 4

Cust #: 70039250

Page:

Quote Number: 3239412

Wenger FF&E, Instrument Storage (BuyBoard contract, Wenger installation)

Reno MS

14.00 039E500 30 EA \$55.00 \$1,650.00

Classic 50 Music Stand

Classic 50 Music Stands to be available in the August 2022 timeframe.

Wenger will deliver & assemble stands to McAnally Middle School. Customer to transport items to Reno MS as desired.

039C202 \$501.00 15.00 2 EA \$1,002.00

Music Stand Move & Store Cart Large

Wenger will deliver & assemble carts to McAnally Middle School. Customer to transport items to Reno MS as desired.

146M024.125 45.00 1EA \$1,173.00 \$1,173.00

Mobile Choral Folio, 4 column, 1.5" spacing, Composite Wood, Oyster, No door

Wenger will deliver this folio cabinet to McAnally Middle School. Customer will transport this folio cabinet to Reno Middle School using district personnel and district transportation.

Wenger Install

40.00 Install 1 FA \$28,009.74 \$28,009.74

Installation Services

Freight 41.00 1EA \$17,713.50 \$17,713.50

Freight Services

DELIVERY & INSTALLATION BY WENGER:

This pricing includes complete delivery and installation, which includes unloading, assembling and removal of debris by Wenger-trained technicians, at non-prevailing, non-union wage rates, to 1st floor locations. 2nd floor or greater will incur additional fees. Check with your representative for further details.

***At the time of order, please provide COVID protocol requirements and any campus safety/security requirements and directions for compliance. ***

> Lines Total \$214,301.59

\$0.00 **Total Taxes**

Quote Total \$214,301.59













Quote

10450 E Bankhead Hwy Aledo, TX 76008

(817) 441-9003

Date: 2/18/2022

Invoice #:

Customer ID: ALED001 Expiration Date: 30 days

To: Mr. Joey Paul Aledo ISD Aledo, TX

Salesperson	Job	Location	Shipping Terms	Delivery Date	Paymen	t Terms
980	Instruments	ISD	Included	ASAP	School PO/Net 30*	
				*	Items to be paid	d as-delivered
Qty	Item #	Description			Unit Price	Line Total
4	DZ400BOF	Di Zhao B-Foot Flute,	Silver Headjoint		\$ 745.00	\$ 2,980.00
6	E11	Buffet E11 Student Cla	arinet		\$ 995.00	\$ 5,970.00
1	YCL221II	Yamaha Student Bass	Clarinet		\$ 1,915.00	\$ 1,915.00
2	BC118020	Buffet Student Bass Cl	arinet		\$ 5,330.00	\$ 10,660.00
1	220BASSOON	Fox 220 Bassoon			\$ 8,200.00	\$ 8,200.00
4	YAS200AD	Yamaha Student Alto	Sax		\$ 1,124.00	\$ 4,496.00
3	YTS480	Yamaha Intermediate	Tenor Sax		\$ 2,173.00	\$ 6,519.00
1	YBS480	Yamaha Intermediate	Bari Sax		\$ 4,629.00	\$ 4,629.00
4	YTR200AD	Yamaha Student Trum	npet		\$ 623.00	\$ 2,492.00
2	YEP642II	Yamaha Pro Euphoniu	ım, Lacquer		\$ 5,341.00	\$ 10,682.00
16	JTU1140	Jupiter 3/4 Performance	ce Tuba		\$ 4,411.00	\$ 70,576.00
					Subtotal	\$ 129,119.00
					Sales Tax	-
					Total	\$ 129,119.00